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WIUULY Solution 1

last_membgr(L,M) ;= append(_,[M],L).

Imax(L,M) :- sort(L,S), last_member(S,M).

Dhhhhh% Solution 2

Imax (L,M) :- member(M,L), integer(M), findall(X, (member(X,L),X=<M),L).
Yhhhhh% Solution 3

Imax ([X],X) :- integer(X). e ’
Imax ([X,Y],M) :- integer(X), integer(Y), M is X, X>=Y.

Imax ([X,Y],M) = integer{X), integer(Y), M is ¥, ¥>=X.

lmax ([HIT],M) :- integer(H), M is H, Imax(T,M).

Imax ([HIT],M) :- integer(H), lmax(T,M), H=<M.

oy ,C L mnwl mw vopa Sapni count2(L,C) vrpr11on nr 20 :PROLOG nowa iwya .6 (10%)
' ROT L An0Ia PITa DINYs DN Dexyn 93 nwa xn C DR 77

7?- count2([1,avi,shuli,52,-9.12,avi,52,53]1,C).
C=[lavi,52]
?- count2(la,b,c,a,d,al,C).

C= [] (
VN )

% The predicate member2 succeeds only if M appears exactly 2 times in L:
member2(L,M) :~ member(M,L), findall(X, (member(X,L),X==M),F), length(F,2).
% The solution is:

count2(L,C) :- setof(X,member2(L,X),C).



